BT TRIA O - HEHHEE X T BFEJ‘zigﬁosﬁ KIRHE
+H D - 3y D
X 73,847 158,952 75,679 83,273 | EEFILUETAT 741 1,842 861 981
E 4,622 9,860 4538 5,322
BEKET1T 878 1,861 899 962 |EREEFZH2T 1,405 3,266 1,556 1,710
BEKET2T 365 808 382 426 5 1,405 3,266 1,556 1,710
B 1,243 2,669 1,281 1,388 |R=E~ EET1T 69 190 83 107
< FE] BT 8,719 21,034 9981 11053 [R=E~ER2T 275 546 260 286
Lt RER1T 362 566 291 275 |R=E~ EBT3T 450 1,043 501 542
Tt RERT2T 246 437 201 236 |R=E~ EBT4T 208 416 188 228
Lt RER3T 257 454 238 216 |R=E~ EB5T 364 678 354 324
Lt RERT4T 157 287 140 147 5| 1,366 2,873 1,386 1,487
Lt RERST 141 295 153 142 | KSIRBT1T 760 1,651 787 864
Tt ERERGT 98 224 112 112 | KEZFET2T 901 1,912 914 998
TtERER7T 79 169 77 92 £t| 1,661 3,563 1,701 1,862
Tt ERERST 131 214 104 110 |ERERT 78 185 82 103
g 1,471 2,646 1,316 1,330 [E RERT2T 148 331 170 161
tfEBET1T 262 551 265 286 (B RERI3T 375 867 386 481
tfEBET2T 1,151 2,545 1,185 1,360 |FARERTAT 279 487 190 297
tfEBET3T 1,007 1,892 931 961 (B RERST 141 317 147 170
tfEBET4T 912 2,067 1,018 1,049 st 1,021 2,187 975 1,212
g 3,332 7,055 3,399 3,656 |F{t HET 2,200 4917 2,418 2,499
ERATET1T 640 1,570 782 788 | = AHT 247 462 229 233
ERATET2T 359 848 401 447 |BEEERMET1T 252 494 234 260
ERATETST 368 842 399 443 |BEEERMET2T 550 1,124 548 576
g 1,367 3,260 1,582 1,678 (B EEFRMAETST 720 1,530 720 810
==Yl 1,043 2,196 1,060 1,136 (B E B RMET4T 640 1,275 637 638
HEWEET 262 510 230 280 |BEE ERMETST 697 1,642 797 845
HERE2T 407 698 310 388 5| 2859 6,065 2,936 3,129
HEWREIIT 258 471 237 234 |BEEEMEILET1T 229 378 170 208
HEWE4AT 131 285 131 154 (BT B#EiLET2T 471 948 448 500
B 1,058 1,964 908 1,056 |B & BH#EILET3T 523 1,087 529 558
HEREET 1,659 3,152 1,404 1,748 |BE B B#EILETAT 621 1,305 617 688
HEREET2T 2,848 5,979 2,821 3,158 |BE EBiLAT5T 738 1,697 815 882
HEFETST 3,023 5,889 2,612 3,277 B 2,582 5415 2,579 2,836
HEFETAT 2,082 3,948 1,734 2214 |BEEBHEE1T 1,029 1,976 957 1,019
HEREEIST 1,294 2,748 1,320 1,428 (B EB#BHAT2T 149 309 162 147
£t| 10906 21,716 9,891 11,825 (B R BE#AI3T 2,240 4541 2,197 2,344
HUEET1T 793 2,182 1,068 1,114 B 3,418 6,826 3,316 3,510
HYERT2T 534 1,329 649 680 |[BEETZET1T 642 1,399 654 745
g 1,327 3,511 1,717 1,794 (B EEBHEZET2T 466 992 468 524
MEET 439 961 479 482 | BEERZEI3T 331 779 379 400
EET2T 346 840 404 436 B 1,439 3,170 1,501 1,669
g 785 1,801 883 918 |BEEEARETTT 646 1,316 653 663
WHAEET1T 740 1,879 895 984 |BEEEARET2T 260 600 291 309
WHEEET2T 201 458 220 238 |EEEARETST 1,030 2,642 1,294 1,348
RT3 T 742 1,606 816 790 B 1,936 4,558 2,238 2,320
g 1,683 3,943 1,931 2012 |EEBMEmRmET1T 305 698 339 359
RKEIRAT 5749 12,892 6,214 6,678 |EE BMEmMAET2T 225 463 228 235
hRERTT 280 535 251 284 |BEE EEmBRTI3T 611 1,316 656 660
hRER2T 199 360 160 200 g 1,141 2477 1,223 1,254
hRERST 232 496 246 250 |\ T4t 95 201 93 108
hRERT4T 273 528 256 272
B 984 1,919 913 1,006
o A BT 600 1,276 624 652
hEEEET1T 590 1,264 591 673
hEEEET2T 786 1,315 617 698
hEEEETST 459 1,148 544 604
hEEEET4T 730 1,451 710 41
hEEEEST 843 1,688 809 879
hEEEET6T 3,301 6,197 2,955 3,242
5| 6,709 13,063 6,226 6,837
P =T 879 2,167 1,064 1,103
BAFBILETTT 1,053 2,195 1,049 1,146
BXEFILET2T 968 2,199 1,066 1,133
BEAEFILAIST 1,860 3,624 1,562 2,062
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